I%hg'l}rrUTEOF USN | [ ]—m ' J ! ]ﬁ S\\%

TECHNOLOGY
CMR

[Code:  1SELNIS

Internal Assesment Test - [
BASICELECTRONICS
02102016 | Durstion: 90 mins | Max Marks: 50 | Sem L[ Section: LM N0 |
| Answer Any FIVE FULL Questions |

Sub: T

' Date: | 02/10/2016
| Date: | 02K

e i e L S

- 7W'_"7*T_6[ﬂ?: ]

Marks s —rET 1

1.(a) Design a fixed Current bias circuit with Vcz=5V and Ic=3ma when supply  [6] CO3 13
voltage is 12V. Assume Si transistor with 3=60, N

(b)  Calculate the DC Load line and determine the Q-point values for the base [4] | CO3| L3 |

bias circuit with Vce=20V, Re=430 kQ and Re=2 k0 and 3=100. | |

2. For the voltage divider bias circuit shown in Fig. 1, find the value of Ve Ie, [10]  CO3 L5314
Vce and Ve using approximate method(Assume Si transistor) a

Vee=(8 V

theslkn .

Fige-!

3(@)  Listand explain all Ideal Characterigics of Operational Amplifier. [5] | cO3|L1L2

(b)  Write Short note on any one :- [51 [Co3Li, L2

(i) Integrator ! | |

(ii) Inverting Adder : ~~--wi-—- |

Write expressions for output voltage at points A, B, C, D and E from the [10] | CO3 L
circuit shown in Fig, 2‘\ !
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5. Convert one number system to other as stated below :- [10] | CO4 | L3 |
(a) (11101010)z = ( )10 :
(b) (01010011)2 = ( )E \
(c) (5E)16 = ( J10 ‘
(d) (4D)1s = ( )z
(e) (12.23)10=( . | |
6(a)  Simplify the given expression and Implement using NAND Gate only [5] | CO4 L3

ABC + BC + ACD + ACD + CD \

(b) What is Half Adder. Explain it with the help of Truth Table and Logic [5] CO4 LI
Diagram o
7. What is a Flip-Flop. Explain the operation of S-R Flip Flop using Truth [10] CO4 LI
Table and Circuit Diagram ]
8. Write Short note (any two) [10] | CO4 L1.L.2
(i) Latch ; ‘
(ii) De-Morgan’s Theorem
(iif) Full Adder
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Course Outcomes 5 ‘ & } 21 2 | 8| 8 5| 8| 8 g g | g
£ & & | £ & ‘ & & £ A & | & &

Co1: | Appreciate the significance of electronics in ‘ i } ‘ I ‘ ‘
7" | different applications. 1.0 0 0 o0 o0 o0/ 0 o0/ 0 1 0

Understand the working principle of diode ‘ \ ‘ , 1 |
CO2: | and apply them to design rectifiers, filter | ‘
circuits and wave shaping circuits 3/ 0/ 2| o] o] o] o 0| o 1, 0 0
Design simple circuits like amplifiers ’ :
‘ (inverting and non inverting), adders, ‘ ‘ \ ‘
integrators and differentiator using OPAMPs | 3 0 2 0 0 O 0, 0 o 1 0] 0
Compile the different building blocks in ‘ |
CO4: digital electronics using logic gates and ‘
‘ ‘ implement simple logic function using basic ‘ | ‘ | |

universal gates 120 0 0 0o o oo o1 0 o

I understand  the  functioning of a | 1 1 |
‘ COS:  communication system and  different ‘ ‘ | ‘

| modulation techniques 0| o 0o o] o | 0, 0] 0/ 0/ 1 0| O

CO6: ‘ understand the basic principles of different ' ‘ | | ‘ ' I i '
| types of transducers - 0, 0, 0 0o 0o o 0] 0o o0 1 0| 0
| Cognitive level KEYWORDS B
L1 | List, define, tell, describe, identify, show, label, collect, examine, tabulate, quote, name, who, when, where, etc
2 ‘ summarize, describe, interpret, contrast, predict, associate, distinguish, estimate, dlfferentldte dISCLlSS extend
L3 \ Apply, demonstrate, calculate, complete, illustrate, show, solve, examine, modify, relate, change, classify,
| | experiment, discover. B
L4 ‘ Analyze, separate, order explam connect, classify, arrange, divide, compare select explam mfer
- LS_ | Assess, decide, rank, grade test, measure, recommer-id_c"onvmce select, ;udge exp]am discriminate, support

ACOHC]UC’E compare, __summanze

POl - Engineering  knowledge; PO2 - Problem analysis;  PO3 - Design/development  of  solutions:
PO4 - Conduct investigations of complex problems; POS - Modern tool usage; PO6 - The Engineer and society; PO7-
Environment and  sustainability, PO8 = Ethics; PO9 - Individual and  team waork;

PO10 - Communication; PO11 - Project management and finance; PO12 - Life-long !earmng
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